This baby hasn’t got no teeth. D

This sentence contains a double negative.

Colour in
your score on the
testometer!

This baby hasn’t got any teeth. IZ
This sentence is written correctly.

Change these sentences to make them correct.
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There aren’t re sweets left.

. 1didn’t go rewhere yesterday.
_ | haven't aever been to Spain.
. The boy said he didn’t see neboay.

. The car wasn’t rewhere near the accident.

| don’t want re trouble.

. | can’t find the book rewhere.
. There isn’t Ae point in arguing.

. The bike hasn’t got re tyres.

| didn’t tell re-ere.
| didn’t say rething.

| haven'’t, aever tasted mangoes.

The thief wasn’t rewhere to be seen.

| didn’t do pethirg wrong.

| haven’t got re money.
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